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qm=;= s/of]Uo PsLs[t ;DklQsf] d"No b/ -jflif{s_ jflif{s b/

1 ?= bz nfv ?k}oFf;Dd ?= kRrL; ?k}oFf b]lv b'O{ ;o ?k}ofF;Dd

2 ?= bznfv Ps ?k}ofFb]lv aL; nfv 
?k}ofF;Dd

?= b'O{ ;o kFrf; ?k}ofF b]lv rf/ ;o ?k}ofF;Dd

3 ?= jL;nfv Ps ?k}ofFb]lv tL; nfv 
?k}ofF;Dd

?= kfFr ;o  ?k}ofF b]lv Ps xhf/ ?k}ofF;Dd

4 ?= tL;nfv Ps ?k}ofFb]lv kFrf;nfv 
?k}ofF;Dd

?=Ps xhf/ b'O{;o ?k}ofF b]lv tLg xhf/ ?k}ofF;Dd

5 ?= kFrf;nfv Ps ?k}ofFb]lv Ps s/f]8 
?k}ofF;Dd

?=tLg xhf/ kfFr;o ?k}ofF b]lv bz xhf/ ?k}ofF;Dd

6 ?= Ps s/f]8 ?k}ofFb]lv b'O{ s/f]8 ?k}ofF;Dd ?=afx| xhf/ ?k}ofF b]lv jL; xhf/ ?k}ofF;Dd

7 ?= b'O{ s/f]8 Ps ?k}ofFb]lv kfFr s/f]8 
?k}ofF;Dd

?=kRrL; xhf/ ?k}ofF b]lv ;f7L xhf/ ?k}ofF;Dd

8 ?= kfFr s/f]8 Ps ?k}ofFb]lv dfly b'O{ ?k}ofF k|lt xhf/
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